
CE Brea

 Time of One Small Pulse = 221. 8 uS



CE Brea

 Time of Middle Sized Pulse = 443.5 uS



CE Brea

 Time of Special Pulse #1 = 1.270 msec



CE Brea

 Time of Special Pulse #2 = 1.774 msec



CE Brea

 Time of Special Pulse #3 = 161.3 uS



CE Brea

 Time of Special Pulse #4 = 907.2 uS



CE Brea

Total Time of Pulse Train = 18.60 mS
Number of Small Pulses = 14 * 221. 8 uS = 3.1052 mS
Number of Middle Pulse = 2 * 443.5 uS = 0.887 mS
1 Special Pulse #1 = 1.270 mS
1 Special Pulse #2 = 1.774 mS
1 Special Pulse #3 = 161.3 uS
1 Special Pulse #4 = 907.2 uS

Total On Time = 8.1047 mS / 18.60 mS = 43.57%
Peak to Average Ratio = -7.21


